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TEST 1
PRACTICAL ENGLISH TEST FOR COLLEGES
(PRETCO — Level A)

Part I Listening Comprehension (15 minutes)

Directions. This part is to test your listening ability. It consists of 3 sections.

Section A
Directions: This section is to test your ability to understand short dialogues. There are 5 recorded
dialogues in it. After each dialogue, there is a recorded question. Both the dialogues and ques-
tions will be spoken only once. When you hear a question, you should decide on the correct an-
swer from the 4 choices marked A, B, C and D given in your test paper. Then you should mark
the corresponding letter on the Answer Sheet with a single line through the center.
Example: You will hear;
You will read: A. New York City.
B. An evening party.
C. An air trip.
D. The man’s job.
From the dialogue we learn that the man is to take a flight to New York. Therefore,
(C) An air trip is the correct answer. You should mark C on the Answer Sheet with
a single line through the center.
[A] [B] t€3 [D]

Now the test will begin.

Vegetables. B. Fruit. C. Meat. D. Fish.
He is tired. B. He is generous.

He is humorous. D. He is intelligent.

The wind stopped, but it’s still raining.

The rain stopped.

1t’s still raining, and the wind is blowing.

Both the rain and wind stopped.

Mail an invitation to the Smiths.

Obtain clothing for the Smiths.

Have a party for the Smiths.
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D. Ask the Smiths to tell her where they live.

5. A. The noise in the library. B. The heat inside.
C. The late hour. D. The crowded room.
Section B

Directions: This section is to test your ability to understand short conversations. There are 2 re-
corded conversations in it. After each conversation, there are some recorded questions. Both the
conversation and questions will be spoken twice. When you hear a question, you should decide on
the correct answer from the 4 choices marked A, B, C and D given in your test paper. Then you

should mark the corresponding letter on the Answer Sheet with a single line through the center.

Conversation 1
6. A. Watch TV.
C. See a movie.
7. A. At 7:30 this evening.
C. At 8:30 this evening.
Conversation 2

Read a newspaper.

Look for something interesting.
At 8.:00 this evening.

At 7:00 this evening.

Swo=

8. A. Friends. B. Teacher and student.
C. Salesman and customer. D. Father and daughter.
9. A. Play tennis together with some friends.
B. Go to see a film.
C. Help his mother move.
D. Read some magazines.
10. A. Reading some magazines.
B. Packing the books.
C. Taking the magazines out of the bookcase.
D. Borrowing some books from the man.

Section C )

Directions: This section is to test your ability to comprehend short passages. You will hear a re-
corded passage. After that you will hear five questions. Both the passage and the questions will be
read twice. When you hear a question, you should complete the answer to it with a word or a
short phrase (in no more than 3 words). The questions and incomplete answers are printed in
your test paper. You should write your answers on the Answer Sheet correspondingly. Now the

passage will begin.

11. Why do most people think that it is very difficult for old people to learn a new language?
Because they believe that children than adults.
12. What did the first report show?



It showed that teenagers learn more, in less time, than
13. According to the second report, how does the ability to learn a language increase?
The ability to learn a language increases as , from children to adulthood.
14. How many possible explanations are given for these results in the passage?
possible explanations are given in the passage.
15. What seems to be the conclusion?
The conclusion seems to be that the common belief that children are better learners than a-

dults may not be
Part I Structure (15 minutes )

Directions: This part is to test your ability to construct grammatically correct sentences. It con-

sists of 2 sections.

Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete
each one by deciding on the most appropriate word or words from the 4 choices marked A, B, C
and D. Then you should mark the corresponding letter on the Answer Sheet with a single line
through the centre.

16. It was in 1961 John F. Kennedy became president of the United States of Ameri-
ca.
A. when B. that C. then D. whenever
17. According to they have told me, they should return in about three days.
A. that B. which C. what D. any
18. The store set a limit of five pounds of coffee a customer during the sale.
A. i B. to C. at D. on
19. Rather than everything to the last minute, he always prefers to start early.
A. to leave B. leave C. to leaving D. leaving

20. Mrs. Parker woke up at the sound of the explosion and asked what

A. happened B. would happen
C. has happened D. had happened

21. you return those books to the library immediately you will have to pay a fine.
A. Unless B. If C. Until D. Provided

22. The ground was black ants, great energetic ants that were busy running back
and forth.
A. for B. in C. with D. by

23. Evidence came up specific speech sounds are recognized by babies as young as 6

months old.
A. what B. that C. which D. whose
. 8-



24. What would happen if the director knew you felt that way?

A. do you suppose B. will you suppose
C. you suppose D. you would suppose
25. How close parents are to their children a strong influence on the character of the
children.
A. have B. having C. has D. to have
Section B

Directions: There are 10 incomplete statements here. You should fill in each blank with the
proper form of the word given in the brackets. Write the word or words in the corresponding space

on the Answer Sheet.

26. If my legs had not been broken, I (not lie) in bed for weeks.

27. It was raining hard, but by the time class was over, the rain ('stop)

28. The research scientists often meet with problems (require) new type of instru-
ments for their solution.

29. (Find) it difficult to adapt to the climate there, he decided to move to the
north.

30. Christmas Day is coming, and you should make preparations for your ( perform)

at once.

31. It is desirable that automation equipment (keep) running as much of the time as
possible.

32. You must ( quick) your steps if you don’t want to be caught in the rain.

33. What might the results be if such a dangerous proposal (accept) ?

34. Husband and wife with a common duty to the country will find themselves ( draw )
closer together.

35. Parents should try to avoid ( make) their children do what they don’t like to do.
Part I Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for you to fulfill. You

should read the reading materials carefully and do the tasks as you are instructed.

Task 1

Directions: After reading the following passage, you will find 5 questions or unfinished state-
ments, numbered 36 to 40. For each question or statement there are 4 choices marked A, B, C
and D. You should make the correct choice and mark the corresponding letter on the Answer

Sheet with a single line through the center.

Computer virus, whose essential component is a set of instructions, is one kind of threat to

‘9.



the security and integrity of computer systems. Nowadays computer systems worldwide are often
infected by computer viruses. Some cause the loss of programs and data, erase files or subtly alter
data. Others even crash computers or make them useless. In this way, each year they cause tens
of thousands of US dollars of losses.

It’s estimated there are about 4,500 kinds of computer viruses, being set on line at the rate
of about 5 per day. How terrible] A case in point is “Love Bug” which proclaims “I love you” in
the E-mail subject line. Once the Internet surfer opens the file with “I love you” , the viruses
would copy themselves and destroy valuable computer pictures and video files. Another case in
point is the CIH, which is also very destructive. Besides, there are also “Concept F”, “Explore
Zip” and “Nimda” , to name only a few.

However, it’s high time that we worked out effective ways to remove and weed out the viru-
ses. On one hand, I hope anti-bug experts would write out more bug killers such as KV3000 so as
to eliminate the bugs. On the other hand, we should enhance the cyber law and force the virus

writers to stop playing pranks (ZZ{ER]) on the computer users so as to let the world bug-free.

36. The essential component of the computer virus is
A. a kind of worms B. a crowd of animals
C. a kind of threat D. a set of instructions
37. What is the passage mainly about?
A. Computer systems are often infected by computer viruses.
B. Computer viruses cause tens of thousands of US dollars of losses.
C. The computer viruses and ways to deal with them.
D. There are about 4500 kinds of computer viruses.
38. Which of the following is the main idea of Paragraph 27
A. There are about 4500 kinds of computer viruses.
B. “Love Bug” is a virus.
C. “CIH” is a kind of virus.
D. Computer viruses are very destructive.
39. The word “eliminate” in the last Paragraph most likely means

A. remove B. strike C. fight D. combat

40. The author’s view of how to deal with computer viruses is
A. neutral B. objective C. pessimistic D. optimistic
Task 2

Directions: This task is the same as Task 1. The 5 questions or unfinished statements are num-
bered 41 to 45.

We use both words and gestures to express our feelings, but the problem is that these words and
gestures can be understood in different ways. It is true that a smile means the same thing in any
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